
Practice paper SPV
Class – X
Subject – Mathematics

 Section – I [ 40 Marks]

Attempt all questions from this section

Q. 1
       (a)   When the rate of sales tax is decreased from 9% to 7% for a flat T V, 
               Rajan has to pay Rs.632 less for it. What is the list price of the T V?                                                  

       (b)  If a, b, c and d are in continued proportion, and then prove that: 

                (a – b) 3: (b – c) 3 = a: d                                                                                                              
       (c)  A man borrows Rs. 5,800 at 12% per annum compound interest. 

             He repays Rs.1,800  at the end of every six months. Calculate the                            
	             amount  outstanding at the end of the third payment;                                     (3+3+4)      
   Q.2  
       (a)  A man invests a sum of money in Rs. 100 shares, paying 15% 

             dividend  quoted at 20% premium. If his annual dividend is Rs. 540, calculate 
              i) His total investment; 
             ii) The rate of return on his investment.
	         

	       (b) The mid-point of the line segment AB shown in the diagram is (4, -3). Write down the  coordinates of A, B. hence find the equation of AB.
                                                         [image: image1.jpg]


      

	


       (c)   If  g(x) = (2x – 3) is a factor of f(x) = 2x3 – 9x2 + x + p, find the value 
                 of p.  Hence, find all the factors.                                                                  (4+3+3)                                                            
    Q.3 (a) Let A  X  
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     Where A is a Matrix


      (i)  State the order of Matrix A


     (ii)  Find the matrix A.
       (b)  Evaluate: tan 7° tan 23° tan 60° tan 67° tan 83°

       (c)
 A page from the saving account of Mr. Halder is given below calculate the interest at the end of the year at 6% p.a.


	Date 2007
	Particulars
	Debit
	Credit
	Balance

	January 1
	By Balance
	
	
	2000

	January 8
	By Cash
	
	200
	2200

	February 10
	By Cash
	
	300
	2500

	February 24
	To Cheque
	500
	
	2000

	July 18
	By Cash
	
	500
	2500

	July 30
	To Cheque
	700
	
	1800

	November 8
	By Cash
	
	300
	2100

	November 9
	By Cash
	
	300
	2400

	November 10
	By Cash
	300
	
	2100

	December 9
	By Cash
	
	200
	2300


                                                                                                                                         (3+3+4)             
Q.4
          (a)  Find the area of circle whose circumference is equal to the sum of the circumferences with diameter   36 cm and 20 cm.   

           b) Find the roots of the equation x2 + x – (a + 2)(a + 1) = 0. 


          (c) A solid sphere and a solid hemisphere have the same total surface areas. Find the 

               ratio of their volumes. 
                                                                         
(3+3+4)             
Section – II (40 Marks)

ANY FOUR options correctly

Q.5   (a) 
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         (b) In the figure; AC is the diameter of circle, centre O. Chord BD is 

               perpendicular  to AC. Write down the angles ACB, angle BDC, in terms of x. 
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        (c)  ( 0,4), B(3, -4) and C(-1, -2) are the vertices of triangle ABC, find


         (i) the equation of Median through A


        (ii) the equation of altitude through A.                                                                              (3+3+4)              
   Q.6
       (a)   The circumference of the edge f a hemispherical bowl is 132 cm. find the capacity of the bowl.
       (b)  A man invests Rs13500 partly in shares paying 6% at Rs140 and partly in 5% 

              at Rs125. If his total income is Rs560, how much he has invested in each. 

       (c)  (i) Point P (a, b) is reflected in the x-axis to P' (5, −2). Write down the values of a and b.
             (ii) P" is the   image of P when reflected in the y-axis. Write down the co-ordinates of P". 
            (iii) Name a single transformation that maps P' to P".                                                                                                                                              (3+4+3)
Q.7.
	(a)     State whether the following statements are TRUE or FALSE.
	


                (i) a > b, then a - c > b - c,
                (ii) If a < b, then ac < bc.
                (iii) If a > b, then a/c > b/c.
                (iv) If a - c < b - d, then a + d < b + c. where a, b, c, d are real numbers, c ≠ 0.  
(b)      Solve for x : if  2x =
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(c)  If sin 54º cosec (90º – θ) = 1, find the value of θ, 0º < θ < 90º.                                                                                                          

                                                                                                                                                (4+3+3)             


Q.8
	(a)       A trader buys x articles for a total cost of Rs. 600.
               (i) Write down the cost of one article in terms of x. If the cost of per article  were Rs. 5 more, the number of articles that can be bought for Rs. 600 

would be four less. 
               (ii) Write down the equation in x for the above situation and solve it .
	


(b)      Without using trigonometric table find the value of k
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=1-2k                                    (4+3+3)                 
	(c)       Given A 
	[
	
p   0 
0   2 
	]
	, B = 
	[ 
	
0  -q 
1    0 
	]
	, C = 
	[ 
	
2  -2 
2    2 
	] 
	and BA = 
	C2 


            Find the values of p and q.
Q9.
 (a)     Two die are rolled simultaneously .find the probability of getting

          doublets sum divisible by 3& 4(both) sum is a prime number                

 (b)    Find the value of 4sin30°- 3cos60° + tan245°
(c)       In the given figure, find the area of the unshaded portion within the rectangle. 
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                                                (3+4+3)
(a)     Calculate the ratio in which the line joining A(6, 5) and B(4, – 3) is divided by 

          the line y = 2 
 (b)    A right circular cylinder having diameter 12 cm and height 15 cm is full of ice-cream, 
          the ice-cream to be filled in cones of height 12 cm and diameter 6 cm. having a  

          hemispherical shape on the top.  Find the number of such cones which can be
         filled with ice-cream.


(c)    If a : b = 1 : 2, find (4a2 + 7b2) : (5a2 – 11b2)                                           (3+4+3)
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